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Question Id : 92090616400 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

TOI's Tiger Anthem celebrates the ‘higgest superstars’ of India

A mother with her child, lilting music, and a message that celebrates a
milestone. India’s first tiger anthema — a song and a short film on a tigress and her
cub-composed and created as a part of Time of India’s #savingourstripes imtiative,
was launched by Union environment minister Bhupender Yadav on Wednesday. TOT's
initiative marks the golden jubilee of project tiger.

Shantanu Moitra, music director of films like “3 Idiots” and “Parineeta”,
composed the song. “Usually, I compose songs for Bollywood superstars, but after
working on this anthem, [ have realized that the tiger is the biggest superstar,” he
said. Acclaimed wildlife filmmaker S Nallamuthu shot the visuals, and poet/lyricist
Tanveer Ghazi penned the words.

The short film celebrates the bond between a tigress and her cub. The target
audience for the foot-tapping song is today’s children, who will have to carry forward
the spirit that made project Tiger a world-class success.

Launching the anthem, Yadav praised it for focusing on the simple joys of nature
and for reminding humans that animals aren’t greedy.

Sub questions

Question Number : 1 Question Id : 92090616401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not mean ‘Lift"?

(1) A gentel rhythm in a tune.
(2) A cheerful tune.
(3)  The detachable frong part of a gun carriage.

(4) A characteristic rising and salling of the voice.

Options :

92090664801. 1
92090664802. 2
92090664803. 3
92090664804. 4



Question Number : 2 Question Id : 92090616402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement | : TOTI's initiative marks the silver jubilee of project Tiger.

Statement 11 . Aecclaimed wildlife filmmaker S. Nallamuthu shot the visuals.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090664805. 1
92090664806. 2
92090664807. 3
92090664808. 4

Question Number : 3 Question Id : 92090616403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the music director of the films “3 Idiots” and “Parineeta”™?

(1) Shantanu (2) S. Nallanuthu
(3) Bhupender Yadav {(4) Tanveer Ghazi
Options :

92090664809. 1
92090664810. 2
92090664811. 3
92090664812. 4

Question Number : 4 Question Id : 92090616404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the meaning of the term ‘acclaim™

(1)  Praise enthusiastically and publicly
(2) Claim again
(3) Accentuate
(4) Accentor
Options :
92090664813. 1
92090664814. 2

92090664815. 3
92090664816. 4

Question Number : S Question Id : 92090616405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which union minister was present in the TOI's tiger Anthem ceremony?

(1) Minister of finance (2) Minister of home affairs
(3 Minister of children welfare (4) Minister of environment
Options :

92090664817. 1
92090664818. 2
92090664819. 3
92090664820. 4

Question Id : 92090616400 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



TOI's Tiger Anthem celebrates the ‘higgest superstars’ of India

A mother with her child, lilting music, and a message that celebrates a
milestone. India’s first tiger anthema — a song and a short film on a tigress and her
cub-composed and created as a part of Time of India’s #savingourstripes imitiative,
was launched by Union environment minister Bhupender Yadav on Wednesday. TOT's
initiative marks the golden jubilee of project tiger.

Shantanu Moitra, music director of films like “3 Idiots” and “Parineeta”,
composed the song. “Usually, I compose songs for Bollywood superstars, but after
working on this anthem, [ have realized that the tiger is the biggest superstar,” he
said. Acclaimed wildlife filmmaker S Nallamuthu shot the visuals, and poet/lyricist
Tanveer Ghazi penned the words.

The short film celebrates the bond between a tigress and her cub. The target
audience for the foot-tapping song is today’s children, who will have to carry forward
the spirit that made project Tiger a world-class success.

Launching the anthem, Yadav praised it for focusing on the simple joys of nature
and for reminding humans that animals aren’t greedy.

Sub questions

Question Number : 1 Question Id : 92090616401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not mean ‘lift"?

(1) A gentel rhythm in a tune.
(2) A cheerful tune.
(3)  The detachable frong part of a gun carriage.

(4) A characteristic rising and salling of the voice.

Options :

92090664801. 1
92090664802. 2
92090664803. 3
92090664804. 4

Question Number : 2 Question Id : 92090616402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement | : TOTI's initiative marks the silver jubilee of project Tiger.

Statement 11 . Aecclaimed wildlife filmmaker S. Nallamuthu shot the visuals.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090664805. 1
92090664806. 2
92090664807. 3
92090664808. 4

Question Number : 3 Question Id : 92090616403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the music director of the films “3 Idiots” and “Parineeta”™?

(1) Shantanu (2) S. Nallanuthu
(3) Bhupender Yadav {(4) Tanveer Ghazi
Options :

92090664809. 1
92090664810. 2
92090664811. 3
92090664812. 4

Question Number : 4 Question Id : 92090616404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the meaning of the term ‘acclaim™

(1)  Praise enthusiastically and publicly
(2) Claim again
(3) Accentuate
(1) Accentor
Options :
92090664813. 1
92090664814. 2

92090664815. 3
92090664816. 4

Question Number : 5 Question Id : 92090616405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which union minister was present in the TOI's tiger Anthem ceremony?

(1) Minister of finance (2) Minister of home affairs

(3) Minister of children welfare (4) Minister of environment
Options :

92090664817. 1
92090664818. 2
92090664819. 3
92090664820. 4

Sub-Section Number : 2
Sub-Section Id : 920906530
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090616406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of ‘purify’.

(1) Corrective (2) Pure
(3) Contaminate (4) Clumsy
Options :

92090664821. 1
92090664822. 2
92090664823. 3



92090664824. 4

Question Number : 6 Question Id : 92090616406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of ‘purify’.

(1) Corrective (2) Pure
(3) Contaminate (4) Clumsy
Options :

92090664821. 1
92090664822. 2
92090664823. 3
92090664824. 4

Question Number : 7 Question Id : 92090616407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined idiom in the following sentence.

At last, the truth has come out.

(1) confided (2) escaped
(3) evaded (4) transpired
Options :

92090664825. 1
92090664826. 2
92090664827. 3
92090664828. 4

Question Number : 7 Question Id : 92090616407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meaning of the underlined idiom in the following sentence.

At last, the truth has come out.

(1) confided (2) escaped
(3) evaded (4) transpired
Options :

92090664825. 1
92090664826. 2
92090664827. 3
92090664828. 4

Question Number : 8 Question Id : 92090616408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

Dry fruits are sold by Jawahar.

(1) Jawahar sold dry fruits. (2) dJawahar has sold dry fruits.
(3) Jawahar sells dry fruits. (4) Jawahar had sold dry fruits.
Options :

92090664829. 1
92090664830. 2
92090664831. 3
92090664832. 4

Question Number : 8 Question Id : 92090616408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

Dry fruits are sold by Jawahar.

(1) Jawahar sold dry fruits. (2) Jawahar has sold dry fruits.
(3) Jawahar sells dry fruits. (4) dJawahar had sold dry fruits.
Options :

92090664829. 1
92090664830. 2
92090664831. 3



92090664832. 4

Question Number : 9 Question Id : 92090616409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the word Optimist.

(1) Destructive (2) Hopeful
(3) Disappointed (4) Funny
Options :

92090664833. 1
92090664834. 2
92090664835. 3
92090664836. 4

Question Number : 9 Question Id : 92090616409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the word Optimist.

(1) Destructive (2) Hopeful
(3) Disappointed (4) Funny
Options :

92090664833. 1
92090664834. 2
92090664835. 3
92090664836. 4

Question Number : 10 Question Id : 92090616410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence.

(1) I know what he done came as a shock.
(2) I know which he did came as a shock.
(3 [ know what he did came as a shock.

(4) [ know which he done eame as a shock.

Options :



92090664837. 1
92090664838. 2
92090664839. 3
92090664840. 4

Question Number : 10 Question Id : 92090616410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence.

(1) I know what he done came as a shock.
(2) I know which he did came as a shock.
(3 [ know what he did came as a shock.

(4) [ know which he done came as a shock.

Options :

92090664837. 1
92090664838. 2
92090664839. 3
92090664840. 4

Question Number : 11 Question Id : 92090616411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Member of Parliament will lose his membership if he is continuously absent from his
sessions for :

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days
Options :

92090664841. 1
92090664842. 2
92090664843. 3
92090664844. 4

Question Number : 11 Question Id : 92090616411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Member of Parliament will lose his membership if he is continuously absent from his
sessions for :

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days
Options :

92090664841. 1
92090664842. 2
92090664843. 3
92090664844. 4

Question Number : 12 Question Id : 92090616412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The World Meteorology Day is celebrated on:

(1) March 16th (2) April 20th
(3) May 20th (4) August 20th
Options :

92090664845. 1
92090664846. 2
92090664847. 3
92090664848. 4

Question Number : 12 Question Id : 92090616412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The World Meteorology Day is celebrated on:

(1) March 16th (2) Apnl 20th
(3) May 20th (4)  August 20th
Options :

92090664845. 1
92090664846. 2
92090664847. 3
92090664848. 4

Question Number : 13 Question Id : 92090616413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which film introduced playback singing in india?

(1) Raja Harishchandra (2) Lafe of Krishna
(3) Alam Ara (4) Mughal-e-Azam
Options :

92090664849. 1
92090664850. 2
92090664851. 3
92090664852. 4

Question Number : 13 Question Id : 92090616413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which film introduced playback singing in india?

(1) Raja Harishchandra (2) Life of Krishna
(3) Alam Ara {4) Mughal-e-Azam
Options :

92090664849. 1
92090664850. 2
92090664851. 3
92090664852. 4

Question Number : 14 Question Id : 92090616414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the correct combination of the diseases against which MMR vaccine is used:

(1) Measles, Mumps, Rubella (2) Malaria, Mumps, Rubella
(3) Malaria, Malnutrition, Rabies (4) Measles, Malnutrition, Rabies
Options :

92090664853. 1
92090664854. 2
92090664855. 3
92090664856. 4

Question Number : 14 Question Id : 92090616414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identity the correct combination of the diseases against which MMR vaccine is used:

(1) Measles, Mumps, Rubella (2) Malaria, Mumps, Rubella
(3) Malaria, Malnutrition, Rabies (4) Measles, Malnutrition, Rabies
Options :

92090664853. 1
92090664854. 2
92090664855. 3
92090664856. 4

Question Number : 15 Question Id : 92090616415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city Food Corporation of India established the first food museum?

(1) Kolkata (2) Mohali
(3) Lucknow (4) Thanjavur
Options :

92090664857. 1
92090664858. 2
92090664859. 3
92090664860. 4

Question Number : 15 Question Id : 92090616415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city Food Corporation of India established the first food museum?

(1) Kolkata (2) Mohal
(3) Lucknow (4) Thanjavur
Options :

92090664857. 1
92090664858. 2
92090664859. 3
92090664860. 4

Question Number : 16 Question Id : 92090616416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the next numhber in the following series :
21, 35, 53, b,

(1) 105 (Z) 109
(3) 101 (4) 99

Options :

92090664861.
92090664862.
92090664863.
92090664864.

AW N =

Question Number : 16 Question Id : 92090616416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in the following series :
21, 35, 53, 75,

(1) 105 () 109
() 101 (4) 99

Options :

92090664861.
92090664862.
92090664863.
92090664864.

B W N =

Question Number : 17 Question Id : 92090616417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following question has one statement and three conclusions. Check the
conclusions on the basis of the statement and choose the correct option.

Statement :

Meena 1s the only daughter of Mr. & Mrs. Joshi.
Conclusion :

(1) Mr. & Mrs. Joshi have two children.

(i) Meena has no brother.

(i11) Meena has a step brother.

(1) Only (1) follows (2) Only (1) follows
(3) Only (i) and (iii) follows (4) None of them follows
Options :

92090664865. 1
92090664866. 2
92090664867. 3
92090664868. 4

Question Number : 17 Question Id : 92090616417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following question has one statement and three conclusions. Check the
conclusions on the basis of the statement and choose the correct option.

Statement :

Meena is the only daughter of Mr. & Mrs. Joshi.
Conclusion :

{1y Mr. & Mrs. Joshi have two children.

(11} Meena has no brother.

(ii1) Meena has a step brother.

(1) Only (i) follows (2) Only (11) follows
(3) Only (1) and (111) follows (4) None of them follows
Options :

92090664865. 1
92090664866. 2
92090664867. 3
92090664868. 4



Question Number : 18 Question Id : 92090616418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the question, statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions

Statement ;

A multinational company has started displaying the list of Holidays of the vear on the
internet rather than displaying on the notice board.

Assumptions:
(i) All the employees have internet facility at home.

(1) Most of the employvees referred to the list on both notice board and internet
earlier.

(1) Only (i) is implicit

(2)  Only (11) 15 imphlicit

(3) Neither (i) nor (ii) 1s implicit
(4) Both (i) and (ii) are implicit

Options :

92090664869. 1
92090664870. 2
92090664871. 3
92090664872 4

Question Number : 18 Question Id : 92090616418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the question, statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions

Statement ;

A multinational company has started displayving the list of Holidays of the vear on the
internet rather than displaying on the notice board.

Assumptions:
(1) All the employees have internet facility at home.

(1) Most of the employvees referred to the list on both notice board and internet
earlier.

(1) Only (i) is implicit

(2)  Only (11) 15 imphlicit

(3) Neither (i) nor (ii) is implicit
(4) Both (i) and (ii) are implicit

Options :

92090664869. 1
92090664870. 2
92090664871. 3
92090664872 4

Question Number : 19 Question Id : 92090616419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V 1s wife of R. T is brother of V. 5 is the mother of R. W is father-in-law of V. Y 1s
mother-in-law of 8. How 18 V related to Y7

(1) Niece (2) Grand daughter
(3) Grand daughter-in-law (4) Daughter-in-law
Options :

92090664873. 1
92090664874. 2
92090664875. 3
92090664876. 4

Question Number : 19 Question Id : 92090616419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



V is wife of R. T 1z brother of V. S is the mother of B. W is father-in-law of V. Y is
mother-in-law of 5. How 15 V related to Y?

(1) Niece (2) Grand daughter
(3) Grand daughter-in-law (4) Daughter-in-law
Options :

92090664873. 1
92090664874. 2
92090664875. 3
92090664876. 4

Question Number : 20 Question Id : 92090616420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some girls are sitting in a row. Kamla is sitting 10th from left and Veena is 7th from
right. They have 10 girls in between them. How many girls are sitting in the row?

(1) 18 2y 27
(3) 28 (4) 29
Options :

92090664877. 1
92090664878. 2
92090664879. 3
92090664880. 4

Question Number : 20 Question Id : 92090616420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some girls are sitting in a row. Kamla is sitting 10th from left and Veena is 7th from
right. They have 10 girls in between them. How many girls are sitting in the row?

(1) 18 2y 27
(3) 28 (4) 29
Options :

92090664877. 1
92090664878. 2
92090664879. 3
92090664880. 4



Question Number : 21 Question Id : 92090616421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of K for which the quadratic equation 2x~ — Kx + K =0 has equal roots are:
(1) 8,4 (2) 4,4
(3) 0,4 (40 0,8

Options :

92090664881. 1
92090664882. 2
92090664883. 3
92090664884. 4

Question Number : 21 Question Id : 92090616421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of K for which the quadratic equation 2x~ - Kx + K =0 has equal roots are:
(8.4 () 4.4
3 04 (4) 0.8

Options :

92090664881. 1
92090664882. 2
92090664883. 3
92090664884. 4

Question Number : 22 Question Id : 92090616422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cost price of 100 copies of a book is equal to the selling price of 60 copies of the same
book. The gain or loss percentage is:

2 1
(D 662% (2) 8T=%
(3) 67% (4) 66%

Options :

92090664885. 1
92090664886. 2
92090664887. 3



92090664888. 4

Question Number : 22 Question Id : 92090616422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cost price of 100 copies of a book is equal to the selling price of 60 copies of the same
book. The gain or loss percentage is:

9
(1) iiﬂ%% (2) ﬁ?%%
(3) 67% (4) 66%
Options :

92090664885. 1
92090664886. 2
92090664887. 3
92090664888. 4

Question Number : 23 Question Id : 92090616423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B, C and D entered into a partnership. ‘A’ contributed one-third of the capital, ‘B’
contributed one-fourth, ‘C’ contributed one-fifth and ‘D’ contributed the rest. All four
of them agreed to share profit in the ratio of their capital. What 1s the share of ‘D’
when total profit is T 60007

(1) T 2,000 (2) T1,600
(3) T 1,200 (4) ®1,300

A B, C 3t D v% 93erl IF *d &l ‘A Fel It & U (088 97 1 3eE e g, B
TF YT WP H IS H 8, (O TH-I1Ed 9P F IEE Fa g I 99 e D
FA1 8| 9 91 §9 91 W TEqd € & 16 J FA1 IS & 39 § # o9 ol | 3 T oy
%.6,000 8 T 3599 ‘D’ 1 91 e 27

(1) T 2,000 (2) ¥ 1,600
(3) T 1,200 (4) ¥1,300
Options :

92090664889. 1
92090664890. 2
92090664891. 3
92090664892. 4



Question Number : 23 Question Id : 92090616423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B, C and D entered into a partnership. ‘A’ contributed one-third of the capital, ‘B’
contributed one-fourth, ‘C’ contributed one-fifth and ‘D’ contributed the rest. All four
of them agreed to share profit in the ratio of their capital. What is the share of ‘D’
when total profit is ¥ 60007

(1) T 2,000 (2) T1,600
(3) T 1.200 (4) T1,300

A, B, C 3 D U% 9Eicd € &d &1 ‘A’ Tt & U 988 9 %1 areE & g, B
UF H1UE 9P H IS HA 8, O TH-91Ed 9P FT I0EHE FGT g 3 39 IeE D
Fa 8| 9 IR §9 91 W FEqd 21d & b o A1 Il < 39 § # o9 ol I T ond
%.6,000 & ©7 3@H D’ 1 97 fha1 87

(1) T 2,000 (2) ¥ 1.600
(3) T 1.200 (4) ¥1,300
Options :

92090664889. 1
92090664890. 2
92090664891. 3
92090664892. 4

Question Number : 24 Question Id : 92090616424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman travels from P to Q at a speed of 40 km/hour and returns to P by increasing his
speed by 50%. What is his average speed for the entire journey?

(1) 36 kmv'hour (2 45 km/hour
(3) 48 km'hour {4y 50 km/hour
Options :

92090664893. 1
92090664894. 2
92090664895. 3
92090664896. 4



Question Number : 24 Question Id : 92090616424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman travels from P to Q at a speed of 40 km/hour and returns to P by increasing his
speed by 50%. What is his average speed for the entire journey?

(1) 36 km'hour (2} 45 km/hour
(3) 48 km'hour {4y 50 km/hour
Options :

92090664893. 1
92090664894. 2
92090664895. 3
92090664896. 4

Question Number : 25 Question Id : 92090616425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes ‘A’ and ‘B’ can fill a cistern in 4 minutes and 6 minutes, respectively. If
these pipes are turned on alternately for 1 minute each (pipe ‘A’ is opened first), then
how long will it take for the cistern to fill?

(1) 4 minutes 48 seconds (2) 3 minutes 20 seconds
5} 4 minutes 50 seconds (4) 3 minutes 30 seconds
Options :

92090664897. 1
92090664898. 2
92090664899. 3
92090664900. 4

Question Number : 25 Question Id : 92090616425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes ‘A’ and ‘B’ can fill a cistern in 4 minutes and 6 minutes, respectively. If
these pipes are turned on alternately for 1 minute each (pipe ‘A’ is opened first), then
how long will it take for the cistern to fill?

(1) 4 minutes 48 seconds (2) 3 minutes 20 seconds

5} 4 minutes 50 seconds (4) 3 minutes 30 seconds

Options :



92090664897. 1
92090664898. 2
92090664899. 3
92090664900. 4

Part B: Mechanical Engineering

Section Id : 920906326
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906531
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090616426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5]

§

B e
!

If A= | and I = unit matrix, then the value of A> —44 is:

ST

(]
L

() 31 (2) 4l
(@ 51 (4) 61

Options :

92090664901.
92090664902.
92090664903.
92090664904.

AW NN~

Question Number : 26 Question Id : 92090616426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 2 2
g A=|2 1 2| W I=9FE AR A A A 44 FAA B
2 2 1

() 31 (2) 41
@ 51 () 61

Options :

92090664901. 1
92090664902. 2
92090664903. 3
92090664904. 4

Question Number : 27 Question Id : 92090616427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Head lost due to friction 15 7 m in a pipe flow, The total head at the inlet of the pipe to be
maintained for maximum power transmission through the pipe 1s:

() 30m (2) 24 m

(3) 21m (4) 36 m

Options :

92090664905. 1
92090664906. 2
92090664907. 3
92090664908. 4

Question Number : 27 Question Id : 92090616427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toefi Ty vaE | 94w F HEw 3 HE 7 m B TEY § SAUwaH R AHaT SR TE4 & G0 e &
T R W Fe 9 2

(1) 30 m (2) 24 m
(3) 21'm (4) 36 m
Options :

92090664905. 1
92090664906. 2
92090664907. 3
92090664908. 4



Question Number : 28 Question Id : 92090616428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an open tank, water in present to a depth of 3 m and above it oil in present
to a depth of 2 m. The intensity of pressure at the interface of the two fluid
layers will be:

(Given specific gravity of oil = 0.7)

(1) 13.7 kN/m? (2) 14.7 kN/m?
(3 12.7 kN/m?2 (4) 15.7 kN/m?
Options :

92090664909. 1
92090664910. 2
92090664911. 3
92090664912. 4

Question Number : 28 Question Id : 92090616428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF G 3% § 3 m MRS 7 UHI 991 36k FW 2 m RS A% o W0 #| FA1 I HUH HAE W A H
e w0t (fem &, o9 =1 fafire % = 0.7):

(1) 13.7 kN/m* (2) 147 kN/m?*
(3) 12.7 kEN/m* (4) 15.7 kN/m®
Options :

92090664909. 1
92090664910. 2
92090664911. 3
92090664912. 4

Question Number : 29 Question Id : 92090616429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the evaporator of a vapour compression refrigerator the refrigerant
leaves at 205 KJd/kg and leaves condensor at 75 Kd/kg. The cooling load in kW
for supply of refrigerant per kg per second is:

(1) 140 kW (2) 120 kW
(3) 100 kW (4) 130 kW



Options :

92090664913. 1
92090664914. 2
92090664915. 3
92090664916. 4

Question Number : 29 Question Id : 92090616429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 99 HUieT RSl & 91ad § 3EEas 205 Klikg @ z@m 75 KJ/kg =wmEm 21
Fads & Hid & (oW Ui Tty uid T Ifidqed 91 &:

(1) 140 kW (2) 120 kW
(3) 100 kW (4) 130 kW
Options :

92090664913. 1
92090664914. 2
92090664915. 3
92090664916. 4

Question Number : 30 Question Id : 92090616430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an air standard dual combustion cyele, the heat addition process takes place at:

(1) Constant pressure
(2) Constant volume
(.3) Constant pressure and constant volume
(4) Constant temperature
Options :

92090664917. 1
92090664918. 2
92090664919. 3
92090664920. 4

Question Number : 30 Question Id : 92090616430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 91 HE fgged =% °, ST 90T YA gfed BT @:

(1) FEggEw (2) f=a smaT
(3) fa TE 9w A aEa w (4) Tra ammE W
Options :

92090664917. 1
92090664918. 2
92090664919. 3
92090664920. 4

Question Number : 31 Question Id : 92090616431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an actual regenerative Rankine cycle, the net work out put will be
as compared to simple Ranking cycle.

(1) more (2) less
(3) same (4) uneffected
Options :

92090664921. 1
92090664922. 2
92090664923. 3
92090664924. 4

Question Number : 31 Question Id : 92090616431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ardtge [Tl A =gk H, YT ifeh = @ e § %l & (net work out
put) frfa =l

(1) HAfas (2) ==
(3) HHH (4) FwaTfed
Options :

92090664921. 1
92090664922 2
92090664923. 3
92090664924. 4



Question Number : 32 Question Id : 92090616432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion A and the other 13 labelled as

Reason R.
Assertion (A) : The numeric differences in the forecast of demand and actual demand 1s
known as forecast error (e).
- e
Reasons (R) : Mean Abszolute Deviation (MAD) = ;

1

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 15 not correct

i(4) (A) 13 not correct but (R) 18 correct

Options :

92090664925. 1
92090664926. 2
92090664927. 3
92090664928. 4

Question Number : 32 Question Id : 92090616432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= @ FoA fou T & s w1 ATUEYR (Assertion (A)) T TH F FRW (Reasons (R)) § afvfa feran

T Bl
AweE (A):  IEHEAA TN 39 Gt 1 1 AllEE S @ iEE gl el 2

% le
FNO (R) : o= Ty e (MAD) = ﬂ

IIF FYA & A 4, T f2u 10 e § 3 gaH 39w I H =994 Hifa

(1)  (A) 3 (R) 3T 5l & 3 (R), (A) 1 5l =06 2

(2)  (A) 3R (R)THI w6 &, I (R), (A) 1 w6 = 6@ 2
(3)  (A)HE &, o (R) =&l T B

(4) (A =E 7 2, A (R) HEl 2

Options :

92090664925. 1
92090664926. 2
92090664927. 3
92090664928. 4

Question Number : 33 Question Id : 92090616433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mathematical statement regarding Divergence theorem which is true :

(1) §E-:fsm”$><;1ﬂ|:iu 2) j;i'-ds:j[%'-ﬁ]ff.:
= WV s I v
(3) jz-ds = H‘:';xﬁ]_ds (1) J;A -dv= I[E EJJ&
! PN v =LY
Options :

92090664929. 1
92090664930. 2
92090664931. 3
92090664932 4

Question Number : 33 Question Id : 92090616433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FIE G9T § Haf-d SH 91 TEE $U9 99 8

(1) jij-d.»z:”%}xﬂdu (2) §E-d&‘: I[E-E]d::
5 v - 5 v

(3 jﬁ-d{; = HEKEJ(I@ (4) f.ﬂt dy = j{%} ;lr]d's
| TN v 55

Options :

92090664929. 1
92090664930. 2
92090664931. 3
92090664932. 4

Question Number : 34 Question Id : 92090616434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement ] :  Hardness of green sand mold increases with increase in permeability.
Statement 11 :  Increase in permeability of the green sand will make the mold denser
and harder.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement 1T 15 false

(4) Statement I 1s false but Statement 1T 1s true

Options :

92090664933. 1
92090664934. 2
92090664935. 3
92090664936. 4

Question Number : 34 Question Id : 92090616434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e 21wy few o & -

HY I

HeEhIiiorl 4 gig % |19 # =] % "l H FIRAT gedl 8l

FU 11 & =Ie] &I grassiied gig 9= 1 594 1F F3IR &0 &)

IFIF FY F e °, = fou v fawme 1 8 598 300w I w5 =951 Fif

(1)
(2)
(3)
(4)

w4 1 3R 11341 96 #
FoA [ 3R 1131 o &
w4 1 5l 8, difed F94 11704 #
F4A 174 7, S A 118 2

Options :

92090664933. 1
92090664934. 2
92090664935. 3
92090664936. 4

Question Number : 35 Question Id : 92090616435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A CAD tool's purpose is:

(A)
(B)
(©)
(D)
(E)

3-D modelling
CAPP techniques
NC programming
NC machining
Drafting

Choose the correct answer from the options given below :

(L
(2)
(3)
(4)

(A) only

(M), (C), (E) only
(A), (E) only
(E), (D) only

Options :
92090664937. 1



92090664938. 2
92090664939. 3
92090664940. 4

Question Number : 35 Question Id : 92090616435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fordlt &g (CAD) 3 %1 3299 & -

(A)  3-D ufaEm

(B) %9 (CAPP) aahifepan
(C) NC s

(D) NC ==

(B) wiffen

1 feu mu fasedi § @ G I #1999 Fifaw
(1) ae (A)

(2) e (A), (0), (B)

(3) F=a (A), (B)

(4) = (), (D)

Options :

92090664937. 1
92090664938. 2
92090664939. 3
92090664940. 4

Question Number : 36 Question Id : 92090616436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List I1
(A) Auto collimator (I) Angular dimension
(B) Bevel Protractor (II) Small angular
displacement
(C) Optical micrometre (III) Linear dimensions
(D) Vernier Callipers (IV) Surface roughness

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(I), (C)-(III), (D)-(IV)
2 (A)-aV), (B)-(), (C)-(ID), (D)-(I1I)
@) (A)-aD), (B)-(D), (C)-(IV), (D)-(I1T)
(4)  (A)-(ID), (B)-(ID), (C)-(D), (D)-(IV)

Options :

92090664941. 1
92090664942 2
92090664943. 3
92090664944 4

Question Number : 36 Question Id : 92090616436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 % @ -1 &1 e Hife
=1 =11
(A) T=EHTARA () =g
(B) W& HIU AU (I1) H&A FmiE T
(C) IS Tt (IIT) e o
D) afR FefiE (IV) T3 = GEH

4 feu mu faeeewt § @ @ I o =9 Hifau

(1) (A)-(D, (B)-(IT), (C)-(III), (D)-(IV)
(2)  (ARIV), (B)-(D). (C)-II), (D)-(1IT)
(3  (A)-aD), (B)-(D), (C)-(IV), (D)-(I1L)
(4) (AL, (B)-(II), (C)-(I), (D)-(IV)

Options :
92090664941. 1



92090664942 2
92090664943. 3
92090664944. 4

Question Number : 37 Question Id : 92090616437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S
. g . o "
The value of I sin“nxdx , where ne I, 15 :
0

(1) 0 (2)

b | A

(3) . d (4 2=«

Options :

92090664945. 1
92090664946. 2
92090664947. 3
92090664948. 4

Question Number : 37 Question Id : 92090616437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

.t -
L sin‘nxdx FUE, T8 ne I, &
L

(1) i} (2)

b | X

(:3) T (4) 2Zrm

Options :

92090664945. 1
92090664946. 2
92090664947. 3
92090664948. 4

Question Number : 38 Question Id : 92090616438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A hollow eylindrical pipe is insulated using asbestos insulation (k = 0.15 WimE). If outside
heat transfer coefficient 1s 75 W/m2K, then critical radius of insulation is:

(1) 0.5 cm {2) 0.4em
)] 0.2 em (4) 0.45e¢em
Options :

92090664949. 1
92090664950. 2
92090664951. 3
92090664952. 4

Question Number : 38 Question Id : 92090616438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEE U (k = 0.15 WimK) &1 39007 % U @Rad geq & $aee (Hga1) 9@ J@ 21 3ie
AEE FH AR FEaE 75 WimK 8 78 U9 $He8 6 i == &

(1) 0.5 cm {(2) 0.4cm
(3 0.2 em (4) 0.45cm
Options :

92090664949. 1
92090664950. 2
92090664951. 3
92090664952. 4

Question Number : 39 Question Id : 92090616439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Biot number and MNusselt numbers are given by (Here L. is characteristic length,
K¢ = Thermal conductivity for solid, HI = Thermal conductivity of fluid)

" . hK :
(1) hle and hj::{ respectively (2) i & and Aig respectively
K, K L. Ly
; , Cin hK
(3) Lo and oy respectively (4) s and —l respectively
K K Ly
Options :

92090664953. 1
92090664954. 2
92090664955. 3



92090664956. 4

Question Number : 39 Question Id : 92090616439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 W U9 JH T E
(T8 L = HAlenafoes @, Ko =3/ % fou 30 =i, K, =29 % o S Jmefsd)

‘¢ g Ml hK; . hKj
1) e L @ wom L g M
K; K L L.
L g 2 —
@  wm Mo o Ale @ s MEs o MK
K K, L. 7

Options :

92090664953. 1
92090664954. 2
92090664955. 3
92090664956. 4

Question Number : 40 Question Id : 92090616440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The temperature distribution along a fin with insulated tip is:w

g ) i) )
1 i o o HX 2 e LR
(1) = (2) ol
. L tanhm(l-x
(3) 8 _cosh m{l—x) (4) i ( )
B cosh mi 0, mli

Options :

92090664957. 1
92090664958. 2
92090664959. 3
92090664960. 4

Question Number : 40 Question Id : 92090616440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et FaTes T feu & a1y oW v % Ifew a9 @ e g

__ gy
M o= @

8 cosh m (I—=x)
[ cosh m!

_tanhm(l-x)

: N
(3) (4) 6.

ml
Options :

92090664957. 1

92090664958. 2

92090664959. 3

92090664960. 4

Question Number : 41 Question Id : 92090616441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The COP of a heat pump iz 40% of a reversible heat pump. The operating temperatures limits
are 2 °C and 25 °C. If 2.5 kW of heat iz pumped by the heat pump in a room to be heated,
then the power input to the heat pump is:

(1) 048 kW (2) 0.52 kW
(3) 0.32 kW (4y 061 kW
Options :

92090664961. 1
92090664962. 2
92090664963. 3
92090664964. 4

Question Number : 41 Question Id : 92090616441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UE FH T ] UEHA N R Il Fe o w 40% 8| ST ammE H@iem 2 cC 3 25 °C
%1 afe el Fom 99 & FW H o H fo 9 2.5 kW S 9 &1 Sl 8 a1 S U9 H El T
wife & -

(1) 048 kW (2 0.52kW
(3)  0.32kW (1) 0.61 kW

Options :

92090664961. 1
92090664962. 2
92090664963. 3



92090664964. 4

Question Number : 42 Question Id : 92090616442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The two lines AB and CD shown in i-s curve are, respectively:

h

(1) Constant temperature and constant volume lines respectively.

(2) Constant pressure and constant temperature lines repectively,

(3) Constant pressure and constant dryvness fraction lines.

(4) Constant temperature and constant dryness fraction lines.
Options :

92090664965. 1
92090664966. 2
92090664967. 3
92090664968. 4

Question Number : 42 Question Id : 92090616442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
h-s 9% T g1 TETU HA9: AB 791 CD vefia 6w € 98 M@

h

(1) F99: Faa a9 v e saes | gl (2) e Faa g e e e e )
(3) @ 2@ vE fa gEe s wEn d) (4) Ta A @ e JEE W

Options :



92090664965. 1
92090664966. 2
92090664967. 3
92090664968. 4

Question Number : 43 Question Id : 92090616443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radius of Mohr's circle of stress of a stressed element i1s 30 N/mm®* and minor principal
tensile stress i1s 15 Nimm?®. The major principal stress is:

(1) 45 Nimm? (2) 15 N/mm?

(3) 60 N/mm® (4 75 N/mm?®

Options :

92090664969. 1
92090664970. 2
92090664971. 3
92090664972. 4

Question Number : 43 Question Id : 92090616443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiet ga HI faswn fedt fg= g0 s@9a &1 wfded © 30 N'mm? 8 U@ g 3@ =i
gfdee 15 N/mm? 2| g6 g&7 "fde &:

(1) 45 N/mm* (2) 15 N/mm?*
(3) 60 N/mm? (4) 75 N/mm?2

Options :

92090664969. 1
92090664970. 2
92090664971. 3
92090664972. 4

Question Number : 44 Question Id : 92090616444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion A and the other 13 labelled as
Reason R.

Asgertion (A):  Image processing 18 one of the most important technique used in robot
vision system.

Reasons (R) : Image processing techniques are used to enhance, improve or alter an
image and to prepare it for image analysis.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) i=s false

(4) (A) 18 falze but (R) 1s true

Options :

92090664973. 1
92090664974. 2
92090664975. 3
92090664976. 4

Question Number : 44 Question Id : 92090616444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dr= g1 wya 5w Mo # ;v AEYA (Assertion (A)) % ¥ ¥ fafEa 8 91 280 38 FWU (Reasons
(R) FEIH :

HTFT (A) By e, 6 faoq fawen # vge v Jea a@i 21

FAW (R) : Bid T A1l &1 390 ol Bfg &1 5gH, 9°4 91 9501 AR Bid fHveem
% foru Fam = % for fommn = 21

IHIE FYA F A H, = f2u M e § 3 qe9n 30 I #1999 S

(1) (A FR(R)F1 71 & 30 (R), (A) F1 =& = 2

(2)  (A) IR (R) T FE B, Al (R), (A) i HEl =ve T€ 8
(3) (A= R, o (R) e T R

(4)  (A) 5 7 7, o (R) 51 &

Options :

92090664973. 1
92090664974. 2
92090664975. 3



92090664976. 4

Question Number : 45 Question Id : 92090616445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(z—1)(z—2)

The Laurent series expansion of flz)= valid for |z - 1| =1

1 2 a3 : 1 2 3
(1) + —+ T (2) - —+ — s
2=1" (p=1)% (g1 z-1 (2-1)2  (2-1)
(3) L e st (4) Ly z g e By

Options :

92090664977. 1
92090664978. 2
92090664979. 3
92090664980. 4

Question Number : 45 Question Id : 92090616445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" 2 —
|z—1|}1$ﬂ_'|'0\ I[E}—m Hﬂmﬂ“ﬁm%
] s
(1) .. = 2 — 4 e (2) by — ] g
z-1 (z-1)* (z-1)° z-1 (z-1)* (z-1)
1 2 3 1 2 5 4
(3) + — + — ... (4) + — 4 — + +
z-2 (z-2)? (z-2)7 z2-1 (z-2)® (z-1)° (=-2)*

Options :

92090664977. 1
92090664978. 2
92090664979. 3
92090664980. 4

Question Number : 46 Question Id : 92090616446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement 1 : The CNC part program block 18 given as :

N100 G03 = 35 ¥15 R2.5

The tool motion in the above block is ecircular interpolation - counter
clockwise direction.

Statement 11 :  The CNC part program block 18 given as.

N100D 00 =10 Y20

The tool motion in the above block is rapid feed.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement 1 and Statement II are true

(2) Both Statement 1 and Statement II are false

(3) Statement I 1s true but Statement 11 1s false

(4) Statement I 15 false but Statement 11 1s true
Options :

92090664981. 1
92090664982. 2
92090664983. 3
92090664984. 4

Question Number : 46 Question Id : 92090616446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaSIFE e mE

F1: CNC 97 WUH =A% 38 0 23 81 N100 G03 x 35 Y15 R2.5 IWE =% 0 39540

Tfd FATER RET-FHEe gravEd fgm 7|

FUF II:  CNC 97 9UW =1 369 W1 &g 81 N100 GO0 x 10 Y20 39%0ed =1 4 Iq0 11

=i 61 71

IRIT FYA & A 4, A= 50 0 faweni 4 4 596 IE I H 999 iU

(1) & [ 3R 11 8H1 |8t &

(2)  wuA I 3R 11 2E Tom 8

(3)  F 15 B, wfe &ed 1177 &

(4) U 17eW B, #fe % 198 2
Options :

92090664981. 1



92090664982. 2
92090664983. 3
92090664984. 4

Question Number : 47 Question Id : 92090616447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is / an false?

(A) Solder is an alloy of tin and lead.

(B) Ductile materials result in continuous chip with Built up edge.
(C) Stellites are alloys of cobalt, chromium and vanadium.

(D) Electron beam machining does not require vaccum.

(E) In Plasma arc maching, MRR [Material Removal Rate] is higher then
EDM and laser machining.

Choose the correct answer from the options given below :

(1) (C), (D) only
(2) (D), (E) only
(3) (A), (E) only
(4)  (B), (E) only

Options :

92090664985. 1
92090664986. 2
92090664987. 3
92090664988. 4

Question Number : 47 Question Id : 92090616447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foddasHasR 309 8 -

(A)  ZE T W@ o2 & s oy g )

(B) & TEd RFARI % 1Y 9 #9900 ghe & T &l

(C) =eTEgH ®iElee HifHad 19 gifzaq i fwz e 8

(D)  soiazM g Wit i fafa 6 savasa T8 w6 2

(E)  w=T=A1 =79 WEitn H gl #2661 2 EDM 91 o9 o9t 3 At g6 81

9 feu mu fasredi ® | #d I w1 994 Hifau:
(1) %= (), (D)
(2) %= (D), (E)
(3) == (A), (E)
(4) %= (B), (E)

Options :

92090664985. 1
92090664986. 2
92090664987. 3
92090664988. 4

Question Number : 48 Question Id : 92090616448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List 1 Last 11
(A) Crystal Structure (I) Line defect
(B) Cyniding (II) Liquid carbonizing
(C) Screw Dislocation (111} Unit cell
(D) Normalising (IV) Heating upto austenitizing

temperature and then cooling

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(I1D, (C)-(I), (D)-(IV)
(2)  (A)-(ID, (B)-(I1D), (C)-(IV), (D)-(I)
(3)  (A)-(11D), (B)-(I1), (C)-(IV), (D)-(I)
(1)  (A)-1ID, (B)-(ID), (C)-(D), (D)-(IV)

Options :
92090664989. 1



92090664990. 2
92090664991. 3
92090664992. 4

Question Number : 48 Question Id : 92090616448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 % g g=1-11 &1 foem St .
-1 11
(A) s ww= ) T=Im
(B) @mETSiEN () o FHETErm
(C) Y= F=gaen (I11) Ffz &=
(D) And=mstan (IV) Hi=HeEia A a6 ™

& w5 T g2 =
4 feu 7o faeewi ° § mE I = 994 Fifau .

(1) (A)-(ID), (B)-(I1I), (C)-(T), (D)-(IV)
(2) (A)-(IT). (B)-(I1L), (C)-(IV), (D)-(I)
(3) (A)-(III), (B)-(IL), (C)-(IV), (D)-(I)
(4) (A)-(IIL), (B)-(1IL), (C)-(I). (D)-(IV)

Options :

92090664989. 1
92090664990. 2
92090664991. 3
92090664992. 4

Question Number : 49 Question Id : 92090616449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If three forces acting on a rigid body are in equilibrium, then they must:

(1) be all parallel (2) meet at a point
i(3) meet at a different point (4) never meet
Options :

92090664993. 1
92090664994. 2
92090664995. 3
92090664996. 4



Question Number : 49 Question Id : 92090616449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg g 35 W o fF 99 FrEE § # 99 3 g6 i

(1) =i JE (2) = fag W e g
(3)  Fom-Hem fag W e B (4) =i 7 foerd g
Options :

92090664993. 1
92090664994. 2
92090664995. 3
92090664996. 4

Question Number : 50 Question Id : 92090616450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A truss ABC loaded at B with a force of 10 kN as shown in the figure. The force in the
member AC is :

(1) 5 kN (2) 10kN
(3) 7.5 kN (4) 25kN
Options :

92090664997. 1
92090664998. 2
92090664999. 3
92090665000. 4

Question Number : 50 Question Id : 92090616450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

us gd ABC 10 kN & &a1 & wifta 2 51 fo fag o femman mn 81 9= AC § 51 1
1:I'F'[%:

(1) B5kN (2) 10kN
(3) T7.5kN (4) 2.5kN
Options :

92090664997. 1
92090664998. 2
92090664999. 3
92090665000. 4

Question Number : 51 Question Id : 92090616451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A truck moving at a constant speed of 72 km'/h enters a curved path of radius of curvature
measuring 120 m. It's total acceleration is :

(1) 3.33 m/s® (2)  2.64 m/s?

(3) 4.71 mis? (4) 3.82 m/s?

Options :

92090665001. 1
92090665002. 2
92090665003. 3
92090665004. 4

Question Number : 51 Question Id : 92090616451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



72 km/h 1 U% F9F 91 § T0H TF 36 120 m Fi 361 =01 & TR 99 T/ =99 T4 8| THH
el = E -

(1) 3.33 mfs® (2) 2.64 mfs*
(3) 4.71 m/s® (4) 3.82 m/fs?
Options :

92090665001. 1
92090665002. 2
92090665003. 3
92090665004. 4

Question Number : 52 Question Id : 92090616452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum efficiency in a Screw Jack is given as:

(1) 1 + cosgs 2) 1—cosgs,

1=cosg. T 1+ cosgs

; 1+sings 1—sing.

3 — 1) —F——

(3) 1 — sin s @) 1+sings
Options :

92090665005. 1
92090665006. 2
92090665007. 3
92090665008. 4

Question Number : 52 Question Id : 92090616452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U G S i Afwan gEe 2

1+ cosq, 1-cosg,
1 —_— 2) —
(1) 1l=cosg, ( } 1+ cos g,
: 1+sings 1 - sin s
3 —_— 4) —
) 1 —sin g, @ 1+ sin @,

Options :

92090665005. 1
92090665006. 2
92090665007. 3



92090665008. 4

Question Number : 53 Question Id : 92090616453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A band brake having a band width of 90 mm, drum diameter of 300 mm,
coefficient of friction of 0.3 and an angle of wrap of 270° is required to create a
friction torque of 1000 Nm. The maximum tension (in kN) developed in the
band is:

(1) 10.2kN (2) 8.8kN
(3) 32kN (4) 5.8 kN
Options :

92090665009. 1
92090665010. 2
92090665011. 3
92090665012. 4

Question Number : 53 Question Id : 92090616453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

90 mm $1 92 S13E F UF 92 ¥F ¥ 1000 Nm F1 U 60 59 3790 3099 F4 F o0 300 mm #
2H =44, 0.3 1 99 U UE 270° F 19 H0 HEEE 8l 692 § 3009 Afuwan o (kN H) B

(1) 10.2 kN (2) BE8EkN
(:3) 3.2kN (4) 5.8kN
Options :

92090665009. 1
92090665010. 2
92090665011. 3
92090665012. 4

Question Number : 54 Question Id : 92090616454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid circular shaft is required to transmit a torque of 100 Nm. If the
permissible shear stress for the material is 180 MPa, the diameter of a shaft in
mim 18:

(Assume FOS as 2)

(1) 18 (2) 22
(3) 26 (4) 28
Options :

92090665013. 1
92090665014. 2
92090665015. 3
92090665016. 4

Question Number : 54 Question Id : 92090616454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 Nm &1 T% 561 S0 HA1d & & [o1¢ Th 31" Il A9 1 AEedaHhdl el &l
Ife vgrd #1 IEg FoEw gfaas 180 MPa & @ 99 %1 =08 (mm #) 8: (FE& &
T = 2)

(1) 18 2y 22
3 26 (4) 28
Options :

92090665013. 1
92090665014. 2
92090665015. 3
92090665016. 4

Question Number : 55 Question Id : 92090616455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 15 labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : Dexterous workspace of manipulator robot i either smaller or same as the
reachable workspace,

Reasons (R) : Dexterous workspace 15 made by increasing the degree of freedom of

manipulator robot.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R} are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R} are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false
(4) (A) 15 false but (R) 1s true
Options :
92090665017. 1
92090665018. 2

92090665019. 3
92090665020. 4

Question Number : 55 Question Id : 92090616455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g w99 fgu mu E v AfEYA (Assertion (A)) F ®9 # faRed & 91 g@0 38F wAW (Reasons
(R)FFIH :

FhEREA (A) - BT e &1 Y0 HEEE 31 91 B § A1 TEE A HEE & J0H 2

FAU (R) : gz TEe &1 @Al & Fiie i ggrE (I SEEE 5
IIE FYH & A 4, G 5 10 e 0 |3 g9l I3 I F =994 Fif

(1) @ 3 (R)ZFE 7 # 3 (R), (A) F 5 =T E

2 (A) 3R ®) I A E, A R), (A) F T = T R
(3) (M) = 7, S (R) w6 76 @

(4)  (A) @ 99 7, ©fE (R) 98 #



Options :

92090665017. 1
92090665018. 2
92090665019. 3
92090665020. 4

Question Number : 56 Question Id : 92090616456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T8 epnE
The value of LT{.[; reind dr d@ is

(1) 0 (2)

& [ =

(3) 13 (49) =«
Options :
92090665021. 1
92090665022. 2
92090665023. 3

92090665024. 4

Question Number : 56 Question Id : 92090616456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T srnE &
I{j rein@ dr dg &1 94 &:
o Jo

| —

(1) 0 (2)

Hem

(:3) = (4) =«

Options :

92090665021. 1
92090665022. 2
92090665023. 3
92090665024. 4

Question Number : 57 Question Id : 92090616457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given helow are two statements:

Statement 1 ¢ In an automated production line, a storage buffer is required to reduce

the effect of station breakdowns.

Statement 11 :  In an automated production line, a storage buffer 1s required to smooth

the cycle time variation.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement 1T 1s false

i(4) Statement [ 1s false but Statement I1 15 true

Options :

92090665025. 1
92090665026. 2
92090665027. 3
92090665028. 4

Question Number : 57 Question Id : 92090616457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fr= g1 %A for o F -

FH1: UF EAEd I @ H, ®IA @A % WA & FH F $ 00 06 WSR0 g% &
AFTTEFA Bl 2

FAI: UF EEicd I A4 °, 9% 9d fead ® g 1 & o oF 9Erm 9w &
ATFEFA Bl 2

I FHIF & A H, = 20 T e ¥ 9 #eH 30 I H 984 i

(1) A 130 1154 74 &
(2)  FA 1R 1EH T #
(3)  wUE 15 2, ok &eF 11794 2
(4) A 17 8, wfed %3 M H8 8

Options :



92090665025. 1
92090665026. 2
92090665027. 3
92090665028. 4

Question Number : 58 Question Id : 92090616458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Charge amplifier is used to amphfy the output signal of

(A) Piezoelectric Transducer

(B) Photo emissive Transducer
(C) Photo conductive Transducer
(D) Photo Voltaic Transducer

(E) LVDT

Choose the correct answer from the options given below :

(1) (A), (E) only

(2) (B), (C), (D) only
(3)  (A) only

(4) (E) only

Options :

92090665029. 1
92090665030. 2
92090665031. 3
92090665032. 4

Question Number : 58 Question Id : 92090616458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FET WAy &1 35 fFas fria feas & veds =0 d oI 2
(A) b i gEgEE
(B) U= IeHAS ZHZEHL
(C) W VATEHE THSTH

(D) W= Fiees® FHsg
(E) wAdEdEd

4= feu mu fawemi § 9§ @ 3 = 999 Sifau:
(1)  F=a4 (A), (E)
(2)  FaEe (B). (C), (D)

(3) AR (A)
(4) FEE(E)
Options :

92090665029. 1
92090665030. 2
92090665031. 3
92090665032. 4

Question Number : 59 Question Id : 92090616459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last I1 :

Last I List 11
(A) Cartesian configuration (. RRP
(B) Cylindrical configuration (Il RER
(C)  Polar configuration (IITy PPP

(D) Articulated configuration iIvy PRP

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(II), (C)-(I1I), (D)-(IV)

(2) (A)-(ID, (B)-(I), (C)-(IV), (D)-(I1I)

(3) (A)-(111), (B)-(IV), (C)-(I), (D)-(1L)

(4) (A)-(IV), (B)-(I11), (C)-(II), (D)(T)
Options :

92090665033. 1
92090665034. 2
92090665035. 3
92090665036. 4



Question Number : 59 Question Id : 92090616459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H=1-1 % |4 H=1-11 # faam $ifao .
11 i-11
(A) = fa=m (I) & A
(B) ===n fa=m (II) 31 3T FW
(C) y&a fa=mm (1) ot i i

(D) T B (FEigeiiee) fa=mm (V) @ W
4= feu T o ¥ 9 98 I w1 999 S

n -
2 A
(3) (A)-
4 (A

I}, (B)-(1I), (C)-(11I), (I)-(IV)
I0), (B)-(I), (C)-(IV), (D)-(I1L)
III), (B)-(IV), (C)-(I), (D)-(1I}
IV}, (B)-(111), (C)-(II), (D)-(T)

p T v T e T i

Options :

92090665033. 1
92090665034. 2
92090665035. 3
92090665036. 4

Question Number : 60 Question Id : 92090616460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A black brake as shown has a face width of 500 mm and mean coefficient of friction as 0.35.
For a force of 500 N, the breaking torque (in Nm) i1s given as

150 mm ) 350 mm }l 500 N
]

200 mm
# 350 mm

s

(1) 102.08 (2) 110.06
(3 106.07 (4) 100.08




Options :

92090665037. 1
92090665038. 2
92090665039. 3
92090665040. 4

Question Number : 60 Question Id : 92090616460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

500 mm F1 79 IZE TG 0.35 T U 0 F UF =6 w9 WeHG 2l 99 & fou, fFam 1=
U (Nm #) fean man #:

350 mm :l 500N
J

@ 350 mm

/

(1) 102.08 (2) 110.06
(3) 106.07 (4) 100.08
Options :

92090665037. 1
92090665038. 2
92090665039. 3
92090665040. 4

Question Number : 61 Question Id : 92090616461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid circular shaft of diameter ‘d’ 1s subjected to a combined bending
moment ‘M and torque “T". The material property to be used for designing the

. ) 16 P el
shaft using the relation —%x VM= +T" is:
T

(1)  Ultimate tensile strength (s,) (2) Torsional yield strength (o,,)

(3) Endurance strength (o) (4) Tensile yield strength (o)



Options :

92090665041. 1
92090665042. 2
92090665043. 3
92090665044. 4

Question Number : 61 Question Id : 92090616461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d =8 #i UH N AR I HIF g4 A0 M a1 g Ju T % F7HH 8 9y
%KJMHF 1 ITART FHleh IR &4 H WIFa 9519 0 &:
I

(1) T 7=a1 wifEd (o, ) (2) HUS T W (o, )
(3) H&d T (o) (4) wEen woeE 9 (o)
Options :

92090665041. 1
92090665042. 2
92090665043. 3
92090665044. 4

Question Number : 62 Question Id : 92090616462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A ball bearing operating at a load F has 10,000 hours of life. When the load is doubled, the
life of the bearing, (in hours) is:

(1) 1350 2 1500

(3) 1250 (4)y 2000

Options :

92090665045. 1
92090665046. 2
92090665047. 3
92090665048. 4

Question Number : 62 Question Id : 92090616462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el F 9R W 9 91 91 9910 F1 SiEE wE 10,000 92 81 99 91 SR = fem S @ smie &
S w1 (=92 8) &

(1) 1350 (2) 1500
(3 1250 (4) 2000

Options :

92090665045. 1
92090665046. 2
92090665047. 3
92090665048. 4

Question Number : 63 Question Id : 92090616463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Senszor used to measure the speed of rotating shaft 1= called:

1) Tactile sensor (2) Tachogenerator
(3) Rotameter {4y Photodiodes
Options :

92090665049. 1
92090665050. 2
92090665051. 3
92090665052. 4

Question Number : 63 Question Id : 92090616463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui TR 1 a3 90E ° vgE He FEa B

(1) oEHE g (2) FTFTEHA
(3) Ta i (4) T BMEIE
Options :

92090665049. 1
92090665050. 2
92090665051. 3
92090665052. 4

Question Number : 64 Question Id : 92090616464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 250 V shunt motor has an armature current of 50 A. If armature resistance 18 0.4 Q, the
back emf 15
(1) 206V (Z)y 235V
(3 230V (4) 225V
Options :
92090665053. 1
92090665054. 2
92090665055. 3
92090665056. 4

Question Number : 64 Question Id : 92090616464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 250 V 32 WX 1 3= 9/ 50 A B 3fe 3 ufaie 0.4 Q § 7 e g 19 &

&

(1) 205V (2) 235V
(3 230V (4) 225V

Options :

92090665053. 1
92090665054. 2
92090665055. 3
92090665056. 4

Question Number : 65 Question Id : 92090616465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A = direction control valve used in pneumatic system 1s:
(1) 2 ports (2) 4 ports
(3) 6 ports (4) B ports

Options :

92090665057. 1
92090665058. 2
92090665059. 3
92090665060. 4

Question Number : 65 Question Id : 92090616465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i 4 .
T YOI e U Eﬁmﬁuammﬁ%;

(1) 24924 (2) 4 9EH
(3) 6TEH (4) 8 9eH
Options :

92090665057 1
92090665058. 2
92090665059. 3
92090665060. 4

Question Number : 66 Question Id : 92090616466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other
is labelled as Reason R.

Assertion (A) : The hydraulic actuating system operates more slowly in
comparision to pneumatic system.

Reasons (R) : The viscosity of the o1l used in the hydraulic actuating system is
higher.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A)is not correct but (R) is correct

Options :

92090665061. 1
92090665062. 2
92090665063. 3
92090665064. 4

Question Number : 66 Question Id : 92090616466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F= g1 Fud fou M0 # : u wEYA (Assertion (A)) % ¥4 # feffigd ® 91 280 39 WU (Reasons
(R)) &9 9 :

AWFEE (A): 79 Tfed WhE HEE aEdE FEE e § 91 W 1 )

FA (R) : 74 =ferd whE T/ 0 I7m 21 A 99 S wmEa Juw w6 2
ITF F9H F A 1, 9= fou mu e 1 2 g98 309w I w1 997 Fifem

(1)  (A) 3 (R) g1 7 2 3 (R), (A) i 5 =ren 2

(2 (A 3 (R) A T E, A (R), (A) F =T 6 R
@ (AT R, A R) T T R

(9)  (A) = FE &, 9 (R) FE 2

Options :

92090665061. 1
92090665062. 2
92090665063. 3
92090665064. 4

Question Number : 67 Question Id : 92090616467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order for assigning frame (i) to link (i) from the given
options:

(A) Z.— axisis aligned with axis i, its direction being arbitrary.

(B) Y — axis completes right-hand orthonormal co ordinate frame (1).

(C)  Origin of it coordinate frame is located at the intersection of axis of joint
(i+1) and the common normal between axis (i—1) and (i).

(D) X, - axis is perpendicular to axis Z, , and Z,.

1

(E) X, points away from axis Z, ,.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E) only
(2) (A, (C), (D), (E), (B) only
3 (A), (D), (E), (C), (B) only
(4)  (A), (E), (D), (B), (C) only

Options :

92090665065. 1
92090665066. 2
92090665067. 3
92090665068. 4

Question Number : 67 Question Id : 92090616467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fea 1 fashedi & 360 (i) 1 fore () @ Sired Jren 7l % g

(A)  Z, AW i ¥ 5 HY SASEAA € A2, Hh FHhI G TH A (arbitrary) B
(B) Y, w4 ofed 19 % suHiHe FE9 B9 #0m =a )

(€ id Fen ¥ = uA fag (1) B9 9 | 38 F ¥ i Ao 9w i) 5F F o $
yideed W feuq 2|

(D) X, 3§ Z,_, 99 Z;, 39 F wE=d B 2
() X, w4 z, &g Fefm a2

= fou o fawedt ® @ | I w1 999 Hifaw
(1)  &aa (A). (B). (C). (D). (E)
(2) == (A), (C), D), (E), (B)
(3) %= (A), (D), (E), (C), (B)
(4) = (A), (B), (D), (B), (C)

Options :



92090665065. 1
92090665066. 2
92090665067. 3
92090665068. 4

Question Number : 68 Question Id : 92090616468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I ¢ Thin film lubrication 18 a state of lubrication in which two surfaces are

completely separated by a thick film of lubricant.

Statement 11 : Hydrostatic lubrication is achieved by creating the load supporting film

by an external source like a pump.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement I1 are falze
(3) Statement I 15 true but Statement 1T 15 false

(4) Statement [ 1s false but Statement 1T 15 true

Options :

92090665069. 1
92090665070. 2
92090665071. 3
92090665072. 4

Question Number : 68 Question Id : 92090616468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e s feum .

FE1: Al fhew 1 HeEd, Fed 6 98 wge @ e v f et feew g 9 wad & o
TE g9 foan = &)

FeE I1: 99 39 9= |96 g0 9n g9 T s gaedfas S wiw e = 2
IFIT FU % A 4, T fou e faswed § 3 g0 g I w5 =991 i

(1) %A 130 11 3H 58 #
(2) w13 IEE e
(3) w18 2, dfeA w99 11 7Ted 2
(4)  FEA 17TEa &, WA FEE 18 2

Options :

92090665069. 1
92090665070. 2
92090665071. 3
92090665072. 4

Question Number : 69 Question Id : 92090616469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statement, which is true, is/are?

(A) Elastic body has infinite degrees of freedom.
(B) A universal joint can be used to connect two parallel shaft only.
(C) Pantograph is an inversion of tour bar kinematic chain.

(D) A rigid body does not suffers any distaction under the action of external
forces.

(E) A structure transmits forces resulting in finite amount of work.

Choose the correct answer from the options given helow :

(1) (B), (C), (D) only
(2) (A), (B), (D) only
(3)  (A), (C), (D) only
(4) (A), (D), (E) only

Options :
92090665073. 1



92090665074. 2
92090665075. 3
92090665076. 4

Question Number : 69 Question Id : 92090616469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T=fofas @ 59 =99 &

(A) ORI F% H 39 @a-Adl @l Hile gl &l

(B) drdfds |fY =1 I9F hacl ol FHIGL A9 e | fHa1 51w &

(C) HUemT® =R Tiieh B8 Hi F@e FI TR &

(D) U 3¢ 9% 9Tedl a1 1 [l o d&d [h 1 faefd =1 JE1 T8 &l 8l
(E) U ST gl &l TE11d Hidl & fdeh 9y WEY U S 99 & 8|

= feu mu fameui § @ O 39 =1 979 Fifau
(1) === (B), (C), (D)
(2) e (A), (B), (D)
(3) wEA (A), (O), (D)
(4) %ae (A), (D), (E)

Options :

92090665073. 1
92090665074. 2
92090665075. 3
92090665076. 4

Question Number : 70 Question Id : 92090616470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last IT :

Last 1 List 1T
(A) Dhaplacement Sensor (I} Tactile Sensor
(B) Velocity Sensor (I} Potentiometer Sensor
(C)  Foree Sensor (IIT} Imcremental encoder

(D) Fluid Pressure Sensor (IV) Strain gauge load cell

Choose the correct answer from the options given below ;

(1) (A)ID), (B)-(I1D), (C)-(IV), (D)-(I)
(@)  (A)»D. (B)-(IV), (C)-(IID), (D)-(IL)
(3) (AN, (B)-(D), (C)-(IV), (D)-(IT)
(4)  (A)-(D), (B)-(IID), (C)-(IV), (D)-(T)

Options :

92090665077. 1
92090665078. 2
92090665079. 3
92090665080. 4

Question Number : 70 Question Id : 92090616470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=11 % | g=h-11 1 faem Fifa
g1 g1
(A) T dm @ &= (Tactile)
(B) =T EE (IT) fogemrft dm
(C) &1 "8 (I11) gfg (ushiea) Fe oEsh
(D) T TE HE (IV) faefa mwEs vr #E

H= feu 7o faweal A o 98 39+ =994 Sifau .

(1) (A)-ID, (B)-(IID), (C)-(IV), (D)-(D)
(2)  A)-(D), (B)-(IV), (C)-(11D), (D)-(II)
(3)  (AQ)-ID, (B)-@), (C)-IV), (D)-(IL)
(4)  (A)-ID), (B)-(ILD), (C)-(IV), (D)-(D)
Options :
92090665077. 1

92090665078. 2
92090665079. 3



92090665080. 4

Question Number : 71 Question Id : 92090616471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of V, (t) for given V,(t) in the inverting amplifier is :

R,
WA
R
WA e
O
Vi) / V()
(1) 1‘:,&2!:—1%% (2) Lﬁ,{:}=+tﬁ-m%
@ V0=V @ V()= X
Ry "

Options :

92090665081. 1
92090665082. 2
92090665083. 3
92090665084. 4

Question Number : 71 Question Id : 92090616471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=reRd el § felt ™ V() * T v, (1) = wm R

R,
WA
R
ey \
8]
VJ” / 1”“}
V,0=--v0E ® V0=
Iy ¥
3 Voit)==-V:lt) — 4 Vo ()= +V: (1) —
@  Val) .[r}RF (4) ,,[:_‘.I+,[r]RF

Options :
92090665081. 1



92090665082. 2
92090665083. 3
92090665084. 4

Question Number : 72 Question Id : 92090616472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the specific band of frequencies their is no need to change the components in the circuit. It
is known as:

(1) high pass filter (2) low pass filter
(3 notch filter {(4) band pass filter
Options :

92090665085. 1
92090665086. 2
92090665087. 3
92090665088. 4

Question Number : 72 Question Id : 92090616472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wafmal # fafire 42 = fou ooy § g2l 1 9ge i AEEsn 7@ ad 210 Fad & -
(1) 7= 9 e (2) = uig feea

@ = e (4) s " feee

Options :

92090665085. 1
92090665086. 2
92090665087. 3
92090665088. 4

Question Number : 73 Question Id : 92090616473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not an objective of robot vision:

(1) Architecture advancement (2) Object identification
(3) Visual guidance (4) Pick and place
Options :

92090665089. 1



92090665090. 2
92090665091. 3
92090665092. 4

Question Number : 73 Question Id : 92090616473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d1e g & fofe f § 9 =9 &1 5ie 99 &

(1)  Twiw % § fawm (2) =% # FafEa =
@) =R e (4) IIH UE T
Options :

92090665089. 1
92090665090. 2
92090665091. 3
92090665092. 4

Question Number : 74 Question Id : 92090616474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Parameters to be calculate using forward kinematics are:

(1) Position of end-effector
(2) Orentation of end-effector
(3) Joint angles

(4) Both position and orientation of end-effector

Options :

92090665093. 1
92090665094. 2
92090665095. 3
92090665096. 4

Question Number : 74 Question Id : 92090616474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0 TR T 39ET e A R A 9 a6

(1) ¥4 W & el (2) 374 3 W T
(3)  wgw W (4) % W & g Fafq wE fa=m
Options :

92090665093. 1
92090665094. 2
92090665095. 3
92090665096. 4

Question Number : 75 Question Id : 92090616475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The relation which 1z applicable for rotation of frame in fixed angle representation 1s :
(1) Ry, (6 & 6 )= R, (6 6 &) (2) Ry (s 6 8)=R,. (8 6 &)
(3) R, 6 6, 8,)=R,,. (6 6, 8) 4) R, 6, 8, 8;)= - 8, &, 6;)

Options :

92090665097. 1
92090665098. 2
92090665099. 3
92090665100. 4

Question Number : 75 Question Id : 92090616475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tafza w1 few | %9 % oA % T W@ g9 3 99 g

(1) R.lj-.z {H% g;.? 8] .] = R.‘-'_'.'.I: Lgl E'JE H%J ':*J'} Rz_'..r {H% H_" J‘;'] J == R.t_'.'.? {'9] 9'_' HEJ
(:3) R..6 6 &)=R.,.(6 6 &) (49) R,.0668)=R,.. (6 &8)
Options :

92090665097. 1
92090665098. 2
92090665099. 3
92090665100. 4

Question Number : 76 Question Id : 92090616476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

According to the Association Francaise de Robotique (AFR), the type of robots which are
programmable and servo controlled but not having the capability to acquire information from
ita environment are:

(1) Type A (2) Type B
(3) Type C (4) TypeD
Options :

92090665101. 1
92090665102. 2
92090665103. 3
92090665104. 4

Question Number : 76 Question Id : 92090616476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FTEd € TEiiew 824 (AFR) % FIER, YWW 9@ Jen a9 s (59) FEhEE 6, 7
T wimw & = 908 =1 $1 a9 7 T4 95 &

(1) A TER (2 By¥=sR
(3) C W= (4y D ¥R

Options :

92090665101. 1
92090665102. 2
92090665103. 3
92090665104. 4

Question Number : 77 Question Id : 92090616477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other
is labelled as Reason R.

Assertion (A) : The torque transmitting capacity of a cone clutch is 4.62 times
that single plate clutch for given dimensions.

Reasons (R) : When the semi-cane angle of a cone clutch decreases, it results
in mass wedging action and the force required to disengage
Increases.

In the light of the above statements, choose the correct answer from the options
given helow :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A) is true but (R) is false
(4)  (A) is false but (R) is true
Options :
92090665105. 1
92090665106. 2

92090665107. 3
92090665108. 4

Question Number : 77 Question Id : 92090616477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 %9 fqu 7 # : v 3fEua (Assertion (A)) % ®9 ¥ foifiga & a1 guu 38 AW
(Reasons (R)) HEIH :

Ao (A) ;& S faman % v, =9 o= i 9 AT TOHT AEAT Uhd wie o
&I qo | 4.62 T BT 2

F (R) : Tl W1 979 % 3G o IV o 94 W, FATH dfor a1 T 9UH &
Tel AETEH w1 1 gig 8§ w2

ITUE FYF % A °, A= for T fawedi § @ wed Iuge I w99 Fifa

(1) (A 3R (R) 361 @& £ 31 (R), (A) i wét =men 2

(2)  (A) 3R (R) St @8t £, wfeh (R), (A) it @ =amen 74 2
(3) (A) = &, ofer (R) ol =i 2

(4) (A = 78 2, ©ife (R) @8l &

Options :

92090665105. 1
92090665106. 2
92090665107. 3
92090665108. 4

Question Number : 78 Question Id : 92090616478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Provide the correct sequence of processes for the following in a four stroke Diesel engine
cycle.

(A) Desel injection

(B) Compression

(C) Suection

i Expansion

(E) Exhaust

Choose the correct answer from the options given below :

(1) (A}, (B), (C), (D), (E)
(2) (B), (D), (E), (A), (C)
(3) (C), (D), (A), (E), (B)
(4) (C), (B), (A), (D), (E)

Options :
92090665109. 1



92090665110. 2
92090665111. 3
92090665112. 4

Question Number : 78 Question Id : 92090616478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl =W =i giaa 599 =6 § feg 7@ vl & 9 w5 E:

(A) e 9=
(B) =i

(C) =E=n

@ dfs

(E) f=pma

4= feu mu fasedl | | |E I W =399 it
(1) (A), (B), (C), (D), (E)
(2) (B), (D), (E), (A), (C)
(3)  (C), (D), (A), (E), (B)
(4) (C), (B), (A), (D}, (E)

Options :

92090665109. 1
92090665110. 2
92090665111. 3
92090665112. 4

Question Number : 79 Question Id : 92090616479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I . If axial load is less than crippling load, the column is in stable

equilibrium in the straight position.

Statement 11 : The equilibrium of the column does not depend upon the crippling load.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 15 true but Statement 11 15 false

(4) Statement I 15 false but Statement 11 is true

Options :

92090665113. 1
92090665114. 2
92090665115. 3
92090665116. 4

Question Number : 79 Question Id : 92090616479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9= 3 %o fer o

Hw 1. gt A& i (Beufem) 97 8 =9 8 79 w0 TS gnaEEe ayn '@ e |
T B

e 10 : e &) araEe i 9 w1 fef 98 e #)
IR HYH % e H, T2 20 0 e 1 3 qad I I #9694 Fifa

(1)  F9F 130 1124 o8 &

(2) A 1 3R I1EH] T B

(3) A [TE 8, AT Fy [ Te4 &

(1) FH 1794 R, A FH T 2
Options :

92090665113. 1
92090665114. 2



92090665115. 3
92090665116. 4

Question Number : 80 Question Id : 92090616480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A eylinder of 20 kg mass and 15 cm radius rolls without slipping on a horizontal surface. If it
moves with a velocity of 3 m/s then:

(A) Kinetic energy of translation 1s 90 .J.

(B) Kinetic energy of translation is 45 .

(C) Kinetic energy of centroidal rotation is 45.1.

(D) Kinetic energy of centroidal rotation 1s 90 J.

(E) Potential energy is 45 ..

Choose the correct answer from the options given below :

(1) (B), (D) only
(2) (B), (C), (E) only
(-3 (A), (D), (E) only
(4) (A), (C) only

Options :

92090665117. 1
92090665118. 2
92090665119. 3
92090665120. 4

Question Number : 80 Question Id : 92090616480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



20 kg 3599 a41 15 cm = 91 0% 9o afd 508 W i f5ee qeam 21 gk 98 S mis A H
T = 2

(A)  TIHARO & AT S 90 J 7

(B)  TAERO ) WA F 45 J 2

(C)  Hgehr oo & aE 45 J F9 2

(D) s guE i afaw 90 J FA 2

(B) feufas ==t 450 2

9 fau 1o fasmedl § | | I w944 Hifaw:
(1) a4 (B), (D)

(2) %= (B), (C), (E)

(3)  F=d (A), D), (E)

(4)  FEE (A), (O)

Options :

92090665117. 1
92090665118. 2
92090665119. 3
92090665120. 4

Question Number : 81 Question Id : 92090616481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 1T :

List 1 List II
(A) Double, slides eranks (I) Pantograph
Mechanism
(B) Four bar chain (II) Elliptical Trammel
(C) BSingle slider crank (III) Hip Joint
Mechanism
(D) Spherical Joint (IV) White worth quick returns
Mechanism

Choose the correct answer from the options given below:

(1) (A)-aAV), (B)-(I), (C)-(I), (D)-(I1T)
(2)  (A)-ID, B)-(D), (C)-(IV), (D)-(11I)
3  A-D, (B)-ID, (C)-(II), (D)-IV)
(4)  (A)-(IV), (B)-(I1I), (C)-(I), (D)-(II)

Options :

92090665121. 1
92090665122. 2
92090665123. 3
92090665124. 4

Question Number : 81 Question Id : 92090616481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T=H1-1 % w19 F=-11 =1 faee Fifao

g1 g=A-11
(A) fg weet sboh A (I) U=z
(B) =R ©g =4 (ID) < gamesr STen
(C) UHe TATES b o (I11) Feal =1 918
(D) Teftg = (IV) =&Tge = =i It 99

g feu o famedi O 4 T I = =ma i .

(1)  (A)-V), (B)-(D), (C)-(1I), (D)-(11I)

(2)  (A)-AD), (B)-(D), (C)-(IV), (D)-(I1I)

(3)  (A)-D, (B)-(ID), (C)-(I1ID), (D)-(IV)

(4)  (A)-(IV), (B)-(I11), (C)-(D), (D)-(1L)
Options :

92090665121. 1
92090665122. 2
92090665123. 3
92090665124. 4

Question Number : 82 Question Id : 92090616482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a 2-DOF (RP) manipulator, the joint link parameters are given as

Link i a; o; d, )
1 0 a0° 0 &,
2 0 0 s 0

The final transformation matrix for this manipulator 1s

(1

(3)

[C,
S,
0
0

C,
5

0

{u

0
]
1
0

]
]
1
0

S5y
i
0

0
0
0
1

(2)

(4)

1
0
]

0

0

0 0

0 0

1 ds

0 1
S, d,S ]
= =dis]
0 o |
0 1




Options :

92090665125. 1
92090665126. 2
92090665127. 3
92090665128. 4

Question Number : 82 Question Id : 92090616482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RP gf=mes % 2-DOF ¥ af-fom u=e = feg ™ £

Link 7 a; a; d; &;
1 0 90° 0 &
2 0 0 iy 0
=0 Yi=TeT & [0 A< T 378 #:
C, 0 S 0 (1 0 0 0O
IS B = D &6 % b B
I 2 : 2
) lo 1 0 0 ) 0 01 d,
|0 b ‘@ 1 0 0 0 1
[C; D 8§ O G 0 5 48
' S] 0 _{:l ] S'I. { —f:] —(J'1~}{.1-|] |
3 . 4 21 |
3) |D 1 0 & (4) 0 1 0 0
L9 0 ‘& 1 (0 0 0 1

Options :

92090665125. 1
92090665126. 2
92090665127. 3
92090665128. 4

Question Number : 83 Question Id : 92090616483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A point P(7,9) is reflected about line x = y. The new point P! after reflection is :

P'(7, 9)

1 PY9.7) (2)
@ P18 14) (4) P'(14,18)

Options :



92090665129. 1
92090665130. 2
92090665131. 3
92090665132. 4

Question Number : 83 Question Id : 92090616483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
us fag P(7,9) W@ x =y 8 WEdd ga1 21 TadA & 9= 14 fag PR

(1) PY9,7) 2 P'(7,9)
3  PY18.14) (4 P'(14,18)

Options :

92090665129. 1
92090665130. 2
92090665131. 3
92090665132. 4

Question Number : 84 Question Id : 92090616484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A casting defect formed, when two stream of liguid metal meet without complete fusion is
known as:

(1) Cold shut {2y Mismatch

(3 Flash (4) Seab

Options :

92090665133. 1
92090665134. 2
92090665135. 3
92090665136. 4

Question Number : 84 Question Id : 92090616484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS I MY, T qlel Ui I & 9W fe o Hewd & fuerd €, fae w9 0 S e A g

(1) J=e (2)  FEATH
(3 =% (4) wTEl



Options :

92090665133. 1
92090665134. 2
92090665135. 3
92090665136. 4

Question Number : 85 Question Id : 92090616485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Car sales in four consecutive months are given as 70, 68, 82, 95. Exponentially smoothing
average method with a smoothing factor of 0.4 is used in forecasting. The expected no. of
forecasted car sales in the next month 18

(1) 74 (2) B4

(3) 94 (4) 106

Options :

92090665137. 1
92090665138. 2
92090665139. 3
92090665140. 4

Question Number : 85 Question Id : 92090616485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR 91 HEH 8 FR H R 70, 68, 82, 95 B TWHEA & AU 0.4 F1 9REE FRE g9 Tl §
=i A8 Hiea fafa 3w g8 21 sl 9dH 4 At S fasht i Hen

(1) 74 (2) 84
(3) 84 (4) 106

Options :

92090665137. 1
92090665138. 2
92090665139. 3
92090665140. 4

Question Number : 86 Question Id : 92090616486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following divisions is not part of aggregate production planning?

(1) Amount of labour to be committed (2}  Rate of production
(3) Inventory to be carried forward (4) Scheduling of machines,
Options :

92090665141. 1
92090665142. 2
92090665143. 3
92090665144. 4

Question Number : 86 Question Id : 92090616486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafas § 5 #F & vs fae=m Fa soe a9 = e 4 &

(1) T 31 9= 59 € o= (2) I F
(3)  ITNG W AW TG (4) WAl 1 A T
Options :

92090665141. 1
92090665142. 2
92090665143. 3
92090665144. 4

Question Number : 87 Question Id : 92090616487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A set of 5 jobs is to be planned on a single machine. The processing time (in
days) is given in the table below. The holding cost for each job is Rs.2 per day.

Job Processing
Time
P 5
Q 2
R 2
S 2
T 1

Schedule that minimizes total inventory cost 1s:

1) T-S-Q-R-P 2 P-Q-R-S-T
3 T-R-5-Q-P 4 T-5-R-Q-P
Options :

92090665145. 1
92090665146. 2
92090665147. 3
92090665148. 4

Question Number : 87 Question Id : 92090616487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol v wefie | e %W 5E 6 g9 &1 21 A @ S Ameil § aren & ww e | fgm mn g
% F F fou Bifeen @rm 2 v wfafe 2

EaL RIECIE: LD

p 5

Q 2

R 2

S 2

ik 1
FIHA % FIER 799 F9 920 =9 &
(1) T-5-Q-R-P 2) P-Q-R-&8-T
@ T-R-5-Q-P (4 T-S-R-Q-P
Options :

92090665145. 1
92090665146. 2
92090665147. 3
92090665148. 4



Question Number : 88 Question Id : 92090616488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R).

Assertion (A) : The crosa-sections of the shaft which are plane before twist, remain plane
during and after twist.

Reasons (R) : The twisting moment does not vary with the radius of the shaft.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

(4) (A) 1z false but (R) is true

Options :

92090665149. 1
92090665150. 2
92090665151. 3
92090665152. 4

Question Number : 88 Question Id : 92090616488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g ®YA U MU # : UF AMEGA (Assertion (A)) F ¥9 ¥ fofEa 8 91 ¢80 396 FAU (Reasons
R) FFIH :

FaFA (A):  WE 8 @ A vR vy TSt 9ad §id # 98 WS & oRH T 35S 91
AHAA &4 & 2l
FA (R) : g TVl Wik i B & Ay smiafdE w2

IR HYA & A 4, A= feu T faweni § 9 590 39w I F 991 Sl

(1) (A 3R (R) 2FI 981 & 3N (R), (A) #i 98 =awen 2

(2) (A 3 (R) IFI 941 &, Sl (R), (A) 1 | =0 98 7
(3)  (A)HE 2, =i (R) wél 78 2

(@) (A= T g, S (R) w2

Options :

92090665149. 1
92090665150. 2
92090665151. 3
92090665152. 4

Question Number : 89 Question Id : 92090616489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement 1 :  The shape factor of a concave surface with itself is not zero.

Statement 11 :  The shape factor of a flat plane surface with itself is zero,
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement 11 are false
(3) Statement 1 is true but Statement 1T 15 falze

(4) Statement [ 15 false but Statement IT 15 true
Options :
92090665153. 1
92090665154. 2



92090665155. 3
92090665156. 4

Question Number : 89 Question Id : 92090616489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

da g wA fermu E .

FE1:  UF A0 HAE &I @4 & A9 AH HE A 6 e 2l

T I1:  UF BEAA O & =9 & Y AHH FH T 7A 2
I FHIF & el |, = Zu T foweT § 9 7E0 37 I 6 994 i

(1) FE AR IIEH w6 §
(2)  FYA 1 3R 1A e &
(3) A 15 2, wiiehd H 11 7Te #
(1)  FUA 179 7, o A 118 #

Options :

92090665153. 1
92090665154. 2
92090665155. 3
92090665156. 4

Question Number : 90 Question Id : 92090616490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements for some properties:

(A) Pressure is an extensive property.

(B) Specific internal energy is intensive property.
() Enthalpy is extensive property.

(DM Temperature is intensive property.

(E) Specific heat is intensive property.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (E) only
(2)  (B), (O), (D), (E) only
(3) (A), (C), (D) only
(4) (A), (D), (E) only



Options :

92090665157. 1
92090665158. 2
92090665159. 3
92090665160. 4

Question Number : 90 Question Id : 92090616490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%o T % fou fr=afafes % ofee

(A) = T T e el

B) fafire s S A R
(C) Ui fawamrs R

(D) AT AR T |

(B)  fafire som sifawammmss 1o 2

4= feu v fawei | 2 9E I W 99 il
(1) =& (A), (B), (C), (E)

(2)  #FEd (B), (C), (D), (E)

(3)  F=E (A), (O), (D)

(4  F=4 (A), (D), (B)

Options :

92090665157. 1
92090665158. 2
92090665159. 3
92090665160. 4

Question Number : 91 Question Id : 92090616491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT:

List I List 11
(A) Line of action lying on the (I) Parallel forces
same line.

(B) Lines of action parallel to (II) Concurrent
each other,

(C) Lines of action intersecting (III) Non-Coplanar forces
at a point.

(D) Lines of action lyving on (IV) Collinear forces
different planes or in space.

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(D), (C)-(11), (D)~(11L)
(2) (A)-(D), (B)-(II), (C)-(IV), (D)-(11I)
(3) (A)-(IID), (B)-(IV), (C)-(II), (D)-(D)
(4) (A)-(1T), (B)~(11I), (C)-(I), (D)-(IV)

Options :

92090665161. 1
92090665162. 2
92090665163. 3
92090665164. 4

Question Number : 91 Question Id : 92090616491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 w19 ge-11 #1 faes Hif
g1 g1
(A) HHF =1 § T84 9relt FHar i @ (1) ¥9+=" &

(B) UH gEL % GHIH @aTell HIRATS i @l (I1) wwadi 5

(C) us fag W wiaafaa ww arelt &iars i @@ (111) JEHdel 9d

(D) =8 ¥ I IFe-AH JHaAl W 9 9 9ot (V) #9591
FHATE HI @

e feu U fawel § © HE 3O &1 994 it

(1) (A)-aV), (B)-0), (C)-(1D), (D)-(I1T)
@ WD, (B)-(D, (C)-@V), (D)-(1I)
(3) (A, (B)-AV), (O)-1I), (D)-(D)
(4)  (A)-(I), (B)-(IID), (C)-(D), (D)-(IV)



Options :

92090665161. 1
92090665162. 2
92090665163. 3
92090665164. 4

Question Number : 92 Question Id : 92090616492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.060 0.010
The hole of size 80000~ " o mm match with the:shaft of size S0.000 mm ig on
0.000 0.000

interchangeable arrangement. The assembly’s maximum allowable clearance will be:

(1)  0.080 (2) 0.050
(3  0.040 (4) 0.030

Options :

92090665165. 1
92090665166. 2
92090665167. 3
92090665168. 4

Question Number : 92 Question Id : 92090616492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
mm HTHR H AR F

retts whafda s # 30.000 Y0 nm s w1 foz 30.000 TO010
0.000 0.000

w14 e & 71 990 & e /a9y st e &

(1) 0.060 (2) 0.050
(3 0.040 (4) 0.030

Options :

92090665165. 1
92090665166. 2
92090665167. 3
92090665168. 4

Question Number : 93 Question Id : 92090616493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Strength of the tool cutting edge in orthogonal eutting in comparison to that of the oblique
cutting 1s:

(1) the same (2} more
(3) less (4) dependent on the tool material
Options :

92090665169. 1
92090665170. 2
92090665171. 3
92090665172. 4

Question Number : 93 Question Id : 92090616493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e H I9AF §H I 99 1 HieT 9H HI A1 [TRST Hien # J9ArT 99 i 9/ hi o H &

(1) =9H (2) A=
(3 HH (1) =3 e w fl
Options :

92090665169. 1
92090665170. 2
92090665171. 3
92090665172. 4

Question Number : 94 Question Id : 92090616494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A company is required to process 3 items A, B and C. The prices quoted for
these items (in DNA) by suppliers 51, 52 and 53 are given in table.

Item Supplier
S1 52 53
A 150 175 115
B 207 185 170
C 315 380 390

The company decides that each item has to be supplied by only one supplier
and one supplier will supply one item. The minimum total cost of procurement

to the firm in INR is

(1) 600 (2) 740
(3) 675 (4) 672
Options :

92090665173. 1
92090665174. 2
92090665175. 3
92090665176. 4

Question Number : 94 Question Id : 92090616494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TF FE H A, B AW C 77 FE @ied #) ¥ I w1 1 (F0 °) TEmei % g 81, s2aw
S3 = mmvft § fem #

FFl 4 Fol o v 99 # WE vE & e 9= a9 vw e waa uF | e 9=
ool %1 @iied % for =Em &= (30 °) wm:

(1) 600
(3) 675

Options :
92090665173. 1
92090665174. 2

FH (EETI
S1 52 S3
A 150 175 115
B 207 185 170
C 315 380 390

(Z) 740
(4) 672




92090665175. 3
92090665176. 4

Question Number : 95 Question Id : 92090616495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 18 labelled as Assertion (A) and the other 1z labelled as

Reason (R).
Assertion (A) First law of thermodynamies is the law of conservation of energy.
Reasons (R) : First law of thermodynamics is related to irreversibility in a aystem.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

Y] (A) 15 false but (R) 18 true

Options :

92090665177. 1
92090665178. 2
92090665179. 3
92090665180. 4

Question Number : 95 Question Id : 92090616495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 ®YA QU T § : U AuFHEA (Assertion (A)) % &9 1 foafEa g a1 gaU 396 RO
(Reasons (R)) % #9 1 :

wfiReT (A) : TSI 1 999 98 S0 & qiEer &1 99 2

= (R) : TR &1 999 fam et e O amsoraviEar (irreversibility) ®
Hafd g

I FHYA & AT °, A= fgr T fgwedi § 5 599 39gw 39 #1951 Hifag

(1) (A) 3R (R) g41 941 & 31 (R), (A) $1 81 =awe &
(2) (A 3 (R) 3H1 |8 7, @i (R), (A) i wdl == 48 2
(3) (A)wE &, @fe (R) 98 781 2
(4) (A9t 7€ 8, w1 (R) 961
Options :
92090665177. 1
92090665178. 2

92090665179. 3
92090665180. 4

Question Number : 96 Question Id : 92090616496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as

Reason (R).

Aszsertion (A) : In flow over immersed bodies, drag can be created without 1ift.

Reasons (R) : In flow over immersed bodies, lift cannot be created without drag,

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 18 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3 (A) 15 true but (R) 1= false

i4) (A) 1s false but (R) 1s true

Options :
92090665181. 1



92090665182. 2
92090665183. 3
92090665184. 4

Question Number : 96 Question Id : 92090616496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g1 %94 fou 7§ : uF 3fEu (Assertion (A)) % ®9 1 fofigd & 41 @0 38 AW
(Reasons (R)) FEIH ;

AuweH (A): ¥ § [Uvei & yaE #, v & fom fa=m 3ea= foean =1 @ 21
0 (R) : g9 70 Tuvel w e |, famn @i fowe 98 =918 5 gl 21

ITIT HIA o el J, = feu U fomedi § § g99 39gH I B T9H hiag

(1) (A 3" (R) 3F1 "E € 3 (R), (A) Fi 5l =are &

(2)  (A) 3 (R) g1 @t £, @ifT (R), (A) 1 @ samen 8 2
(3) (A) @l 2, wifa (R) @&l 781 &

(4) (A @l 8 2, @ (R) @81 2

Options :

92090665181. 1
92090665182. 2
92090665183. 3
92090665184. 4

Question Number : 97 Question Id : 92090616497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 : Viscosity of liquids decreases with inerease in temperature.

Statement 11 : Viscosity of liquids is appreciably affected by change in pressure.

In the light of the above statements, choose the correct anawer from the options given below :

(1)
(2)
(3)

(4)

Both Statement I and Statement II are true

Both Statement I and Statement 11 are false

Statement I 15 true but Statement 11 15 falze

Statement I 1s false but Statement 11 1s true

Options :

92090665185. 1
92090665186. 2
92090665187. 3
92090665188. 4

Question Number : 97 Question Id : 92090616497 Question Type : MCQ Option Shuffling : No Is

Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

F= g e fer T E

YL :

e 11

71 1 wET aA # 3fg F 91y g2 2l
. Zdl # TEEA g § 9iEdd 8§ w1 wfed w2

I FHYH & A H, = feu 7 fawmed § 9 596 I0gE I H 994 Fifa

(1)
(2)
(3)
(4)

Options :

F4A 1 3 11541 a1 &
FeA 1 3R 11 gH Tea &
FeH [ 5 2, v 9 11 7ea 2
#YA 17154 7, & %yq 1158 2

92090665185. 1
92090665186. 2
92090665187. 3
92090665188. 4



Question Number : 98 Question Id : 92090616498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following statements are related to [.C. engine and gas turbines.

(A) Gas turbines are compact and light weight.

(B) Complete expansion of working substance in possible in 1.C. engines and
not in gas turhines.

(C) As different processes takes place in different components in gas
turbines, there is complete flexibility in design.

(D) The operating temperature is constant in gas turbine in comparision to
I.C. engine.

(E) Low grade fuels can be burnt in gas turbines.

Choose the most appropriate anawer from the options given below :

(1) (A, (B), (C), (D) only
(2)  (A), (B), (C), (E) only
(3) (A, (B), (D), (E) only
(4)  (B), (C), (D), (E) only

Options :

92090665189. 1
92090665190. 2
92090665191. 3
92090665192. 4

Question Number : 98 Question Id : 92090616498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frefeifias oA 378,51, $991 vd 718 Zaiedl | Hai B

(A) 79 Zated gnfed e goh 99 ® & 2

(B) il g F1 P fowan HE.H. 599 4 |ve 2 7 T g =i 1)

(C)  df 75 zais & fafis 2=l 4 srem-sem uiskam 26 8, safau feamm 4 off @@ 4 a=am
& 2

(D) Ty zatea o .. 399 & fied § sfan aae @ 2

(B) T3 a5l & du9 =1 9 29l § S 31 951 21

9 feu mu fasedi ® 9 W6 I 999 Hifau:
(1) == (A), (B), (O), (D)
(2)  %=H (A), (B), (O), (E)
(3) %9 (A), (B), (D), (E)
(4)  @ad (B), (C), (D), (E)

Options :

92090665189. 1
92090665190. 2
92090665191. 3
92090665192. 4

Question Number : 99 Question Id : 92090616499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List I1

(A) Number of transfer units (I) DBoiler

(B) Periodic flow of heat (IT) Deposition on heat
exchanger exchanger

(C) Phase change (IIT) A measure of size of

heat exchanger

(D) Fouling factor (IV) Regenerators

Choose the correct answer from the options given below:

(1)  (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
(2)  (A)-ID), (B)-(D, (C)-(II), (D)-AV)
(3)  (A)-AV), (B)-(D), (C)-(1D), (D)-(1I)
(4)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

Options :



92090665193. 1
92090665194. 2
92090665195. 3
92090665196. 4

Question Number : 99 Question Id : 92090616499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T=1-1 % =y g=h-11 =1 faem fifse
-1 -1
(A) TGO HISAT i TE=AT (I) ==er
(B) W1 UFHEAL 1 TGl 9aTE (I1) =1 = W ey
(C) 1w viEeH (I11) 547 UaE=i & 376 1 A9
(D) WgIF FF (IV) T 5@

g feu o famedi o @ w39 =1 999 i .

(1)  (A)-(III), (B)-(IV), (C)(II), (D)-(I)
(2)  (A)-(IO), (B)-(D), (C)-(II), (D)-(IV)
(3)  (A)-(IV). (B)-(D, (C)-(I1I), (D)-(II)
(4)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

Options :

92090665193. 1
92090665194. 2
92090665195. 3
92090665196. 4

Question Number : 100 Question Id : 92090616500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List IT
(A) Propeller turbine (I) Impulse turbine
(B) Tangential turbine (II) Kaplan turbine
(C) Reaction is zero (I11) Gas turbine
(D) Reaction turbine (IV) Pelton turbine

Choose the correct answer from the options given helow:

(1)  (W)-(ID), (B)-(ID), (C)-(1D), (D)-(AV)
(2)  (A)-aD), (B)-(D), (C)-AV), (D)-(1I)
(3  (AW)-dD), (B)-(IV), (C)-(I), (D)-(II)
(4)  (W)-(ID), (B)-(IV), (C)-II), (D)-(I)

Options :

92090665197. 1
92090665198. 2
92090665199. 3
92090665200. 4

Question Number : 100 Question Id : 92090616500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 % Iy g=i-11 =1 e Fife .
-1 HqH-11
(A) g HEEA (I) 3= A
(B) 99 @ TEE (II) A ZEEA
(C) = wfdfsan (I1T) T\ 7
(D) wfafwa ZamE (IV) e Tt

=g fer o Tyl © © TEl I W 994 Sifau .

(1) (A)-(ID. (B)-(II), (C)-(T), (D)-(IV)
(2)  (A)(II), (B)-(I), (C)-(IV), (D)-(1IT)
() (A)-(IT), (B)-(IV), (C)-(1), (D)-(I1I)
(4) (AL, (B)-(IV), (C)-(1D), (D)-()

Options :
92090665197. 1
92090665198. 2



92090665199. 3
92090665200. 4



